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QUESTION 1

A customer is implementing a proof of concept for vSphere and wants to enable features such as HA, vMotion and
DRS. 

Which component is required to enable these features? 

A. vCenter Server 

B. vSphere Client 

C. SAN Storage 

D. Distributed Switch 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/vsphere-esxi-vcenter-server-601-resourcemanagement-
guide.pdf 

 

QUESTION 2

Which plane in the NSX-T Data Center Architecture is used to create, read, update, and delete (CRUD) operations? 

A. Local Control Plane (LCP) 

B. Management Plane 

C. Data Plane 

D. Central Control Plane (CCP) 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-NSX-Data-Center-for-vSphere/6.4/
com.vmware.nsx.troubleshooting.doc/GUID-88BA25EC-126B-41EE-9F06-BD6235C9EC77.html 

 

QUESTION 3

What are two characteristics of a Software Defined Networking (SDN) solution? (Choose two.) 

A. It allows workloads to be placed and migrated anywhere in the network. 

B. It is dependent on the underlying physical routers and switches. 

C. It is decoupled from the physical networking infrastructure. 

D. It contributes to layer 2 network sprawl. 

E. It restricts the placements of virtual machines and containers. 
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Correct Answer: AC 

Reference: https://www.vmware.com/topics/glossary/content/software-defined-networking 

 

QUESTION 4

Which plane is responsible for creating and deleting network objects in the NSX-T Data Center Architecture? 

A. Control Plane 

B. Data Plane 

C. Life Cycle Plane 

D. Management Plane 

Correct Answer: D 

 

QUESTION 5

A customer is planning to utilize NSX-T Data Center security services while maintaining current security services
providers. 

Which two features can help the customer achieve this kind of integration? (Choose two.) 

A. Guest Introspection 

B. Distributed Firewall 

C. Network Introspection 

D. Gateway Firewall 

E. Intrusion Detection 

Correct Answer: BE 
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